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(hwgq. npw)
2016p. URD- 2016p2. SUN-
P nd l nd Dhuwbuwynpiw UR0-h b SUMN-h
Lwjuwwmbujwé dpwgpbipu n dhgngwnnudubpp twhwwnbujwsd twhwwnbujwsd ApInpD nwppbpnLRInLUp
wnpjnt w LNt
Yuphputiph gnudwpp |Yuphpubiph gnudwpp
2 3 4 5 6
ur3nhrLUrENNRE3NNL, U B4 UULULUYNN KUSHYUD
Undwdpph dwngnud winph Yapwdzwldwl gnpéuinwiin 4120 000,0 4 120 000,0|Uwutwynp ubpnpnnutip 0,0
Yuwnnignud /33dju.tynpn punhwunip wpdtipnd/
Enufuhnit hwduylipnud Yapwdzwldwl gnpéunwn 1 060 000,0 0,0|Uwutwynp ubpnpanutip -1 060 000,0
YJwnnignud
CLunwdbkup' dwutiwynp ubpnpnn 5180 000,0 4120 000,0 -1 060 000,0
Cunwdbkup’ wpyniuwpbpnipiniu 5180 000,0 4 120 000,0 -1 060 000,0
unshuLuuwuuv NLNNS
urmEnNkE3NkL
G- Suwluigtiuh dholi.nunngh enuiwnnigdwl 480 741,7 0,0]<< wyhwnwlwu pnigh -480 741,7
w2fuwinwupubip
(Gwhpny gyninh dhou.nwpngh gtuph nbifu.yhtwyh nw. b
Ybpwunpngiwt bwiuwgdwuwfuwhwoywihu 0,0 5 000,0[<< whwnwlywu pynigh 5 000,0
thwuwnwpnpebtph dawynud
g.Mwunntuph unp nwpngh Yunnignid 200 000,0 0,0]|<< yhwnwlwu pyniob -200 000,0
. 1
p-Undudhnh ehd T nunngh denuilunnigiwt 100 000,0 0,0[<< whinwywu pynigh -100 000,0

w2fuwwinwupubip




g.Unwwitinh .4bpdbih wujwu nwpngh

L whnwlwu pynigl (LK

5 108 075,8 35 000,0|pwnwpwohuntpjwu -73 075,8
Ybpwywnnigdwt watuwwnwuptin T
Cunwdbkup® whkw.pjnigh (ubithwlywi) 888 817,5 131 898,1 -756 919,4

Lwjwunwuh tnwpwdpwihu
.Upd 1 dunip- dwu ]
6 pb ndutfnh ralf;l.{ untp- dwllwwwninbah 50 000,0 0,0|qupgqwguiwu hhduwnpwd -50 000,0
ybGpwlwnnign 1CULE)
. Lwjwunwuh nwpwdpwhu
p.Updwyhph ehy 2 dunip-dwuuwwpuntgh J
7 Jrnwlunnignud 50 000,0 0,0 qunqugiwl hhuwnpuwd -50 000,0
74l Wl
p.Updwyhpp phy 6 dwulwwwpwnbigh 1-hu b 2-nn. Cwjwutnwuh nwpwdpwjhu
8 |dwutwsbuptiph ytpwywnnignd, gbinnigdwt hwdwlwpgh 50 000,0 0,0|qupgqwgdwu hhduwnpwd -50 000,0
Yunnigntd /<ULL/
9 NulGihuwin huduyliph duituiuuinubah nwheh 0,0 7 335,1|<L whnwhwu pjnigk 7 335,1
yGpwunpngnwd
10 [Pwpwpwp gjninh dwiuwwwpunbgh yepwunpngnid 0,0 14 563,0|<< whnwlwu pjnigk 14 563,0
11 [Upunhdbwn hwdwjuph dwulwwwpwnbgh yepwunpngnid 0,0 50 000,0|<< whwnwlwu pynigh 50 000,0
p-Updwyppp phy 11 dwuuwwwpubtgh yepwlwnnigned,
12 |2nngdwt hwdwlwngh Ywnnignud 70 000,0 20 000,0[<< whnwlwu pnigh -50 000,0
Cunwibktp® whkw.pjnigh (Jwpluwyht) 220 000,0 80 000,0 -140 000,0
Cunwdbkup' whnwlwh pynigh 1108 817,5 211 898,1 -896 919,4
13 |p.dwnwnowwwnh phy 7 hhot.nwnngh hhitwunpngnu 80 000,0 0,0 Puwbuwdnndwl w -80 000,0
wnpniputip
Shuwuuwynpdwu wyg

14 |q.pwgbiuh dhou. nupngh hhduwunpngnud 150 000,0 0,0 " 150 000,0
Shuwuuwynpdwu wy|

15 [g.dbphyh hhdu.nwpngh hhduwunpngnud 120 000,0 0,0 S 120 000,0

16 |q.Uigtipwinh (E9u.) dheli.nwinngh hhdtwtnpngnid 100 000,0 0,0 Duwbuwdnndwil wy -100 000,0
wnpjnipubip

i 9 dhou. hhduwu d

17 |B-wnwnawuwinh phy 9 dheli. nujpngh hhduwlinpngny 250 000,0 0.0 dhuwbuwynpdwt wy| 250 000.0
/pwnwjht/ wnpniputip

18 p.dwnwpowwwnh phy 11 dheu. nupngh hhdtwunpngnid 200 000,0 0.0 Shuwuuwynpdwu wy 200 000,0
/Jpwnuyht/ wnpyniplitip




Shuwtuwynpdwu wyy

19 |p.Updwdhph rhy 6 hhdu. nwpngh hhduwunpngnid 100 000,0 0,0 -100 000,0
wnpjnipubip
Shuwuuwynpdwu wyg

20 [p.Updwyhph phy 8 hhdu. nwpngh hhduwunpngnud 120 000,0 0,0 -120 000,0
wnpjnipubip

21 [p.Updwyhph ehy 9 hhut. nupngh hhduwunpngnu 70 000,0 0,0| Dhuwuwdnndul wi -70 000,0
wnpjnipubip

22 |p-Updwdpph phy 10 hhdu. nuypngh hhduwtnpngnud 70 000,0 0,0| Dhuwuwdnndul wi 70 000,0
wnpjnipubip

23 |p.Updwyhph ehy 3 hhut. nupngh hhutwlnpngnud 100 000,0 0,0 ﬂ’ht‘wm:;q"mwu WL -100 000,0
wnpjnipubip

24 |p.Utdwdnph ph 1 hpd. nupngh hhdtwtnpngnud 100 000,0 0,0| Dhuwuwdnndul wi -100 000,0
wnpjnipubip
Shuwuuwynpdwu wyg

25 |g.Gtwnwokup dhou.nwnpngh hhduwunpngnid 100 000,0 0,0 - 100 000,0
«Lwjwuinw»

26 [q.Lwpwurywup dhou.nwnngh YybEpwunpngnid 75 000,0 66 760,7 huwdwhw Yl -8 239,3
Shuwuuwynpdwu wyg

27 |g.Upwquthh dhou. nwnngh hhduwunpngnid 75 000,0 0,0 - 75 000,0

28 [q.Uwjhujwuh dhou.nwpngh hhduwunpngntd 100 000,0 0,0 Shuwbuwnpiw wyy -100 000,0
wnpjnipubip
Lwjwunwuh nwpwdpwhu

29 |[q.Gpwutuwhniuh dhou. nwpngh ybipwunpngnud 50 000,0 80 000,0|qunpqwgdwu hhduwnpwy 30 000,0
/<ULL/

30 [g.Unp Updwyhph dhou. nunngh hhduwunpngnid 70 000,0 0,0 Shuuwbuuwnpiw wyy -70 000,0
wnpjnipubip

31 [g.Unp Upwnwgtinuh dhet. nwnngh hhdtwtnpngnud 200 000,0 0,0 Dhuwuwdnndul wi -200 000,0
wnpjnipubip

32 |gq.Swuéntnh dhou.nwnpngh hhduwunpngnwd 80 000,0 0,0 Shuuwbuuwnpiw wyy -80 000,0
wnpjnipubip
bhuwu dwu

33 [g.Pwnpwdjwup (Pwnn.) dhot.nwnngh hhduwunpngnid 80 000,0 0,0 htwbiuwinpdut -80 000,0
wnpynipubin
Shuwuuwynpdw wy

34 |g.Powwnwywuh dhou.nwnngh hhduwunpngnid 50 000,0 0,0 - 50 000,0

35 |g.Upquwowwnh hy 2 dhou. nupngh hhduwunpngnid 120 000,0 0,0 Shtusbuwdnndus wi -120 000,0
wnpnipubip

36 p.dwnwpowwwwh phy 1 hhdu. nwpngh hhduwunpngnwd 120 000.0 0.0 Shuwuuwynpdwu wy 1120 0000

/Jpwpwihty/ wnpyniptin

37 |p.dwnwpowwwwnh phy 8 hhdu. nwpngh hhduwunpngnud 100 000,0 0,0 Shtwtuuinndut -100 000,0
wnpjnipubip
Shuwuuwynpdw wy|

38 [g.Qbtnwybpinp dhot. nwnngh hhduwunpngnid 100 000,0 0,0 e —— 100 000,0

39 |q.Upwpuh (Upd.) thet. nwpngh hhdtwtinpngnud 109 240,0 0,0 Duwbuwdnnduwil w -109 240,0

wnpjnipubip




Shuwtuwynpdwu wyy

40 |q.Upwpuh (E9d.) dhou. nwnpngh hhduwunpngnid 105 000,0 0,0 R -105 000,0
Shuwuuwynpdwu wyg
41 |g.Pwnpwdjwuh (Eed.) dhou.nwnpngh hhduwunpngnud 100 000,0 0,0 -100 000,0
wnpjnipubip
42 |q.Uplhlyh dhou. nwpngh hhduwunpngnty 75 000,0 0,0| Dhuwuwdnndul wi -75 000,0
wnpjnipubip
Shuwuuwynpdw wy|
43 |g. 2 u dhou. hhduwu d 235 000,0 0,0 -235 000,0
. Rwpenuph dhgu. nuypngh hhduwunpngnt -
44 |q. chuwqwuh dheli. nwnngh hhdtiwlnpngnul 145 000,0 0,0| Dhuwuwdnndul wi -145 000,0
wnpjnipubip
Shuwuuwynpdw wy|
45 |g. Quu dhou. hhduwu d 200 000,0 0,0 -200 000,0
. Rwudhnwih dhgu. nwpngh hhduwunpngnu -
46 |q. Unp Ysuwphwih dhou. nuwpngh hhduwunpngnty 200 000,0 0,0| Dhuwuwdnndul wi -200 000,0
wnpjnipubip
47 |q.Unquwunh phy 1 thel. nupngh hhdtwunpngnu 200 000,0 0,0| Dhuwuwdnndul wi -200 000,0
wnpjnipubip
48 |q.<wghlh dhsl. nupngh hhuwbnpngnuy 200 000,0 0,0| Dhuwuwdnpdu wi -200 000,0
wnpjnipubip
49 p. Ywnwpawwwwnh 2npwywn Uunpwuhyh ghy 12 hhdu. 200 000.0 0.0 Shuwuuwynpdwu wy) 200 000.0
nwnngh hhduwunpngnid wnpjniputin
Shuwuuwynpdwu wyg
50 [g.Unwwwsybuh dhou. nwynngh hhduwunpngnid 100 000,0 0,0 - -100 000,0
Shuwuuwynpdw wy
51 [gq.Upwqwdh dhou. nwnngh hhduwunpngnid 100 000,0 0,0 WUt -100 000,0
Shuwuuwynpdwu wyg
52 |g.Upowinyuh dhou. nwpngh hhduwunpngnid 100 000,0 0,0 - -100 000,0
Shuwuuwynpdw wy|
53 [q.Gphpnjtinndh dhol. nunpngh hhduwunpngnid 120 000,0 0,0 - -120 000,0
Shuwuuwynpdwu wyg
54 |g.[Gwhpnyh Jdhou. nwpngh hhduwunpngnud 200 000,0 0,0 - -200 000,0
Shuwuuwynpdw wy
55 [q.Pwpwpwnh dhol. nwypngh hhduwunpngnid 300 000,0 0,0 - -300 000,0
Shuwuuwynpdwu wyg
56 [q.Chwdwuh Jdhou. nwpngh hhduwunpngnud 200 000,0 0,0 - -200 000,0
Shuwuuwynpdwu wy|
57 |g.<wjpwnh dhou. nwnngh hhduwunpngnid 200 000,0 0,0 - 200 000,0
Shuwuuwynpdwu wyg
58 [gq.Upghuwh dhou. nwpngh hhduwunpngnid 100 000,0 0,0 Wit -100 000,0
59 p-dwnwprwwwinh 9n. Lwnpblwgnt wudwu phy 2 wjwg 390 000.0 0.0 Shuwuuwynpdwu wy) -390 000,0
nwnngh hhduwunpngnid wnpjniputin
Shuwuuwynpdwu wyg
60 |p.Ukdwunph phy 2 wjwg nunpngh hhduwunpngnid 689 350,0 0,0 -689 350,0

wnpniputip




Shuwtuwynpdw wy

61 |p.Updwyhph rhy 4 wjwg nupngh hhduwunpngnid 494 550,0 0,0 WUt -494 550,0
Shuwtuwynpdw wy
62 [q.Swpnupyh dwulwwwpwnbigh hhduwunpngnid 60 000,0 0,0 - -60 000,0
Cunwdbup' wy wnpjnipubp 7 603 140,0 66 760,7 -7 536 379,3
u hwdwjupubpnud u u
63 |7 nah hudwjupltinnd hprubuitugynn ninpuwgh 138 000,0 138 000,0|<wiwjupwyh pynigk 0,0
dpwgnkip
Cunwdbtup' hwdwjupwih pjnigh 138 000,0 138 000,0 0,0
Lunwdbkup’ Yppnipiniu 8 849 957,5 416 658,8 -8 433 298,7
ucuunh3fe
<L wlnyph nwppwpwpniyyni
64 |q.Wgboww, fGwpgiwiswg tlybntgnt depwlwugunid 0,0 20 000,0|4< whwnwlwu pjnigk 20 000,0
<< Updwyhph dwpquibipupwt
68 |Uwlnipwiht dhongunnidubph hpwywuwgnid 2 563,6 2 563,6|<< whwnwlwu pynigk 0,0
66 |Chuhy hwdwjuph dowynyph wwl yepwunpngnid 0,0 50 000,0|<< whnwlywu pjnigk 50 000,0
Cunwdbup’ whkip.pymok (ubithwljwi) 2563,6 72 563,6 70 000,0
67 qEUqudUhEJhwUE dowynyeh u{u}lwu:jh hpduwunpngnud, 53 300,0 0.0 Cuywunuith nwpwsph 53300,0
obinnigdwt hwdwlwngh Yunnignt qunqugiwl hhdbwnpwd
/<ULL/
68 g-Fwwphyh dowynyph wwu hhduwunpngnid, sknnigdwu 40 000,0 0.0 140 0000
hwdwywpgh Ywnnignud
Cunwdbup’ whip.pyngk (Jupljuypti) 93 300,0 0,0 -93 300,0
Cunwdbktp' wEwnwlwl pnigk 95 863,6 72 563,6 -23 300,0
69 p.Eodhwduh YUndhunwuh wujwu dywynyph nwu 115 000,0 0.0 Shuwuuwynpdwu wy) 115 000,0
hhdtwunpngnud wnpynipubin
70 [g.Pwdpwlwowwnh dwlynyeh twwu hhduwunpngnud 50 000,0 0,0 S)hhujht;u;t{nndwh wit -50 000,0
wnpininogn
48 [g.Ujwaytipinh dowynyph twu hhduwunpngnid 50 000,0 0,0 bhtwtuwgnpduit wyy -50 000,0
wonininbin
49 [g.QbGwnwobtiuh dowynyeh mwu hhduwunpngnid 60 000,0 0,0 bhtwtuwgnpduit wyy -60 000,0
wonininbin
50 [g.9nhpnibnndh dowynyeh wwu hhduwunpngnud 75 000,0 0,0 &)hhwm;ulj_L{nndwU wi -75 000,0
wnpininion
51 [g.Funpnuph dowlynyeh wwu hhduwunpngnwd 80 000,0 0,0 bhuubuwnpdwt wyy -80 000,0

wnoininbn




Shuwtuwynpdwu wyy

52 |g.Upowinyuh dowynyph wmwu hhduwunpngnud 50 000,0 0,0 -50 000,0
wnpininbin
53 [g.Swpnuhyh dawynypeh wnwu hhduwunpngnid 67 500,0 0,0 bhuubuwnpdwt wyy -67 500,0
wnpininbin
54 |g.Unp Upwnwgbipup dowynyph tnwt hhduwunpngnid 50 000,0 0,0 &)hhtuht:llJ_L{nndwU wi -50 000,0
wnpininion
55 |q.Unp Updwyhph dowlnyeh twt hhdtwunpngnud 100 000,0 0,0 S’h““*“‘;fl"“d“‘“ wil -100 000,0
wnpininion
56 |q.Pwnpwdjwlh (Eed.) dowlnyph nwt hhtbwunpngnid 50 000,0 0,0 ﬂ’h“w“‘;fq"“"w“ wil -50 000,0
wnpininion
57 |q.Cbuwywuh dowlnypeh nwl hhduwbnpngnud 60 000,0 0,0 huwuwnpiuil wy| .60 000,0
wnpininbin
58 |q.Quituhnwih dowYnyph wwt hhtuwunpngnid 60 000,0 0,0 huwuwnpiuil wy| .60 000,0
wnpininbin
59 [q. Lwpwurywuh dawynyph twt hhduwunpngnid 100 000,0 0,0 Shuwbuwnniw wy -100 000,0
wnpjnipubip
60 |q.Pownwywuh dowlnyeh wwu hhttwbnpngnud 95 000,0 0,0| Dhuwuwdnndul wi -95 000,0
wnpjnipubip
Cunwibktp® wy| wnpjnipubip 1 062 500,0 0,0 -1 062 500,0
h
61 Uwngh hwdwjupubtipnid hpwlwwglnn npnpunwhu 123 3000 123 3000 0.0
dpwgnbip
Cunwdbup' hwdwjipwiht pjnigh 123 300,0 123 300,0 0,0
Lunwdbkup' Jwynyp 1281 663,6 195 863,6 -1 085 800,0
unnrs 6d 6rhSuuurtnh@3ut <urssr
Uwpqulwi opjtiljinutiph hhduwunpngnid (unp
hwjnbin)
Sbnuyb Uwd Swupwd
62 g.Gtnwytbpuh (Uwdwnwph) dSwupwdwpunh 65 780.0 0.0 Shuwuuwynpdwu wy 65 780.0
dwpqunuwnngh hhduwunpngnud wnpjnipubip
63 |p.tothwduh dwnquhwdwihph hhduwlnpngnus 100 000,0 0,0 S’h““‘t‘:“k“l""d“‘“ wt -100 000,0
nnininiion
«dwnhdhp Gughpwpwiuh wudwl pnugpwdwninh
Shuwuuwynpdwu wy|
64 |ojhdwhwlwt dwulwwwwnwutywu dwpqunwypng» MNUY- 100 000,0 0,0 - -100 000,0
h Eothwdth dwutwénun AR
Shuwuuwynpdwu wyg
65 |p.Utdwdnph uynpunnhwdwihph hhduwunpngnid 300 000,0 0,0 - 300 000,0
.Upd d bBpwu d
66 p-Updwyphpp dwpqunwsaunh ybipwunpngnu 47 300,0 0.0 Shuwuuwynpdwu wy 47 300,0
(ubthwlwunigywu hwpgh nnid) wnpjniputin
L whnwlwu pnigb (£
Jdhwéhu unp d d
67 Fodhwehl punwph Unn dwinquinupngh Yuinnigny 105 500,0 140 620,8|pwnwpwohuntpjwu 35 120,8

(p-Ywnwpowwwwnnud unp Jwpqwhwdwihph Yunnignud)

Uwfuwpwpnipntu)




Cunwdbkup® wy| wnpynipubip 718 580,0 140 620,8 -577 959,2

68 Uwngh hwdwjupubtipnid hpwlwuwgynn ninpuwjht 5500,0 5500,0 0.0
onwankn
Cunwdbkup® hwdwjupwyh pjnigk 5500,0 5500,0 0,0
Cunwdbkup’ uynpwn L Gppwn. 724 080,0 146 120,8 -577 959,2

unn1QUMULNRr3-3NKL

69 [«dwnwprwwwwnh hhjwunwung» MPLL hhduwunpngnid 100 000,0 100 000,0[<wdwgfuwphwiht pwuly 0,0
Gninwlwi pdrlulywu wdpnywnnphwubiph Yunnignwd

70 50 000,0 50 000,0|<wu hwjhu pwu 0,0
(Swiuadnun, Fuwtgywts, Swy, Swpnuhly) wdwpfuwphwihu puly
Cunwdbkup® whkw.pjnigl (Juipluw)ht) 150 000,0 150 000,0 0,0
Cunwdbkup® wnnnowwwhnipjniu 150 000,0 150 000,0 0,0
CLunwdbkup’ unghwjwlwy ninpwn 11 005 701,1 908 643,2 -10 097 057,9

A3NRUSLSEUNRG3NKL

n h h

61 nnguuit hudwluingtinh hhdbuitinangnud 18 900,0 18 900,0|<< whwnwlwu pjnigk 0,0
(«wnupawuwwn» ROL)
n h h

62 &g::o)’dwn wdwhuingtinh hhdtwtinpngnud («Ubuwihes 64 408,0 64 408,0|<< whnwlui pynigh 0,0

63 [Nnnguwt hwdwlywngbiph hhduwunpngnud («funp ROL) 74 705,0 74 705,0|<< whnwlwu pjnigk 0,0
n h h -

64 |IMnalwl hudwluingtinh hhdwtinpngnud («Ul gnip 11 603,0 11 603,0[<< whnwlwt pnigk 0,0
Ururawdwp» QOD)
n h h

65 &géo)’dwn tdwhuingtinh hhdtuitinpngnud {«Updwipp> 76 593,0 76 593,0|<< whnwywi pynigk 0,0
n h h

66 &gr:;)rdwh wdwlwngbiph hhduwunpngnud («Utip&dwihujw» 46 626.0 46 626,0|<< wbinulywt pigh 0.0
n h h

67 &grgdwu tdwluingtinh hbduwtnpngnud («Upwpu» 87 256,0 87 256,0|<< whnwlwl pjnigh 0,0

68 |Nnngiwt hwdwlwpgbph hhduwunpngnud («Ckuhy» LOL) 415 718,0 415 718,0|<< whnwlwu pjnigk 0,0
Cunwdbup’ whip.pynok (ubthwljwi) 795 809,0 795 809,0 0,0

LRpuyht pntpbunysywt whpwlpwt Yndpipb




Nnngdwl hwdwlwnpgbiph

69 |pwpbwydwu dpwghp (Fwnpuwdjwu-Unpwytipwn 300 000,0 300 000,0|<wdwfuwphwihu pwuy 0,0
huptwhnu nnngdwt hwdwlwnpgh Yunnignud)
Nnngdwl hwdwlwpgbph

70 |pwpbjwydwu dpwghp (Udwdnp Q4-h Swudnun-"Twdpnt 300 000,0 300 000,0|<wdwgfuwphwihu pwuy 0,0
htinwgunn opwugp, Twpwnwiw R<-h hbnwgunn opwugp)

71 | fwphh epwdpwiph Ywnnignud (120[u.0°) 3708 000,0 0,0 i‘l‘:du‘z"‘“‘“h“"h“ Py fud -3 708 000,0
Upd d u ] up 2 d Lwd hwjhu pwu d

2o |Undwdhph duyp ng gph 3nl4wnmrajw p 2 onwdpuwiph 3 400 000.0 0.0|<" w2fuwphwiht pwul Yu 3400 000.0
Yunnignd (Sdju.d® b 7dju.d’) wy|
Udpt dpnud (£ ] d < h

2 [LURERAL tnwpw qu (Pwuwlu gbin) gpwdpwiph 4 800 000.0 0.0 wdwpfuwphwht pwl Yud 4 800 000.0
Ywnnignud (12d(u.4%) wy|
Cunwdbbp' whp.pymgh (Jupluyfis) 12 508 000,0 600 000,0 -11 908 000,0
Cunwdbup' whnwlwh pynigh 13 303 809,0 1395 809,0 -11 908 000,0

Rpuyht ptupbunyeyw whpwlwy Yndppb

24 Uwngntd runnpufjhn hnpbph hnnwu]md (Gpwufuwhniunwd 80 000.0 0.0 Shuwuuwynpdwu wy) .80 000,0

3, Upqwawwnnud® 2, Gphpnjbnnynid’ 2) wnpjnipubip
<L ypupwdpught junwdupdwt b wpipwlupq
hpwyhbwlubph twhiwpwpnipyni

25 Lwdwjupubipnud hwlwlywnpunwiht Yuywuubnh 50 000.0 0.0 Shuwuuwynpdwu wy 150 000,0
inbnunpnut (UGtwihs. Upliwnwow, “wwphly) wnpyniputin
Cunwibktp® wy| wnpjnipubip 130 000,0 0,0 -130 000,0
Upd d d 2 Jbipbu u

76 ||ndwuhnh dunqnud pyny 2 depbbwnnuiunnpuh 895 000,0 0,0|Uwutwynnp ubpnpnnutn -895 000,0
Yuwjwuubiph untindnid
Updwyhpp dwpgh Swudnun b Upgquywun hwdwjupubph

77 |Jwpswywu nmwpwdpnid ginidnn [Gwjht tnwpwédpnid 100 000,0 0,0{Uwutuwynp ubipnpnnutip -100 000,0
opwdpwph Ywnnignd (12dju.d®)
Jwuwun hwdwjupnud nnngdwt Ywehiwht hwdwlwpgh

78 370 800,0 0,0|Uwul ub ub -370 800,0
ubpnpnud («Lnjwu» gnpdwpwu, 600-700hw wpwsp) ' :0)Utubuadnp Lbpnpnitin '
Cunwdbup' Swutwynp ubkipnpnn 1365 800,0 0,0 -1 365 800,0
u hwdwjupubpnud u u

79 wnqh huiduytipbipnud ipwwiwgynn ninpuwh 48 350,0 48 350,0(<wdwjupwihu pynigki 0,0

dpwgntip




Cunwdbkup' hwdwjupwht pjnigk

48 350,0

48 350,0

0,0

Cunwdbkup’ qyninuintnbuniypyniu

14 847 959,0

1444 159,0

-13 403 800,0

PLUMUCTULNRG3NKL

80

«Upgbinguwuwwnlwiht hwdwihp» MNUY-h intophUntgjwu

ubippn gunuynn AL tnwpwdpubiph wwhwwuntpjwu,

ghinwywu nwnwiuwuhpnieniutbinh, wunwnununbuwlwu
wluwwnwupubiph Yuwwnwpdwl dwnwjnigniutbp («Npnwu

Yuwpdhp» whnwywu wpgbwdwip» hhduwnpyh dwuny)

10 318,4

0,0

L whnmwlwu pjnigk

-10 318,4

Cunwdbup' whnwlwl pnigh

10 318,4

0,0

-10 318,4

81

<UEY-h gnpéniubinuygjw hbinbwupny Juwuwlwn
wanbgnipjwu Gupwnpyynn Rwpenup hwdwjuphu
unipdtughwih npwdwnpnut plwwywhwwuwlwu
Spwagpbph hpwywiwgdwt bwwnwyny

2 000,0

0,0

Shuwuuwynpdw wy
wnpynipubin

-2 000,0

82

<UEY-h gnpdnwbniejwl hbwnlwupny Juwuwywn
wanbignipjwu Gupwnpyunn Swpnuhy hwdwjupht
unipybughwih npwdwnpnd® puwwywhwwiwlwu
Spwanpbnh hpwywuwgdwt bwwwnwlyny

2000,0

0,0

Shuwuuwynpdwu wyg
wnpjniputip

-2 000,0

83

«2Jwnrung» onwuwywlwjwuh gnpdniutinypjwu
hGwnlwupny yuwuwlwp wanbignipjut Gupwpyynn
Upliwowwn hwdwjupht unipbbghwih wipwdwnpnud®
puwwywhwywuwywu dpwapbph hpwlwuwgdwu
Uwwnwyny

1500,0

0,0

Shuwuuwynpdw wy|
wnpynipubin

-1500,0

84

(dyny 5 wnpwdwptiph qupgugdwu dpwgnh dawynud

5000,0

0,0

Shuwuuwynpdw wy
wnpynipubin

-5 000,0

Cunwdbup' wy wnpjnipubp

10 500,0

0,0

-10 500,0

85

Uwngh hwdwjupubtipnid hpwlwuwgynn ninpuwhu
onwankn

33 700,0

33 700,0

Lwdwjupwihu pjniob

0,0

Cunwdbup' hwiwjupwiht pjnigh

33700,0

33700,0

0,0

Lunwdbkup’ puwwywhwywunip)niu

54 518,4

33 700,0

-20 818,4

RPNUUCMrNRE3NKL

86

Uwhdwuwdbipd Pugupwt hwdwjuph Snipwuhl GYtinkignt

YbpwYwugunid (10nwp)

100 000,0

0,0

Uwutwynp ubipnpnnutip

-100 000,0




Updwdhp pwnwpnwd ppninwgnpdniejw Yuinpnuh

87 [uwnbindnud (gnigwupwh, ggnuwpswihu hjnippuludwu 10 000,0 0,0[{Uwutwynp ubipnpnnutip -10 000,0
Ywgwpwuubp, nmwpwdph pwpblwngnid)
gg [P-F2dhwolnu ntunnpuiliv-hjnipwinguyht hudwihnh, 154 500,0 0,0|Uwutwynp ubpnpnnutip -154 500,0
pnpbsutiph Ywnnignud
Cunwdbtup' dwutwynp ubkipnpnn 264 500,0 0,0 -264 500,0
Lunwdbkup' qpnuwypgnipntl 264 500,0 0,0 -264 500,0
LU1UuLuUchLNrE3NKL
<< phtnutiutliph bwhiupwpnyeinit
I<s
89 BU bodhuidip S&S quinstulju 28Uph uiughuiwg 276 678,7|<< whwnwlwu pjnigki 276 678,7
ybpwunpngnud
Cunwdbup' whnwlwh pynigh 0,0 276 678,7 276 678,7
Updwydhp pwnwpwjht hwdwjupnid Punpudjwu 9/2
Shuwuuwynpdwu wyg
90 [hwugbnul gunuynn wuwldwpwun pwgdwpuwlwpwu 26uph 20 000,0 0,0 S -20 000,0
wywpunnwd nrjnLpuGn
PR3 opwghp (unp huyipbp)
o1 Puwlwpwuh Yunhp niubgnn thwiuunwywuutph hwdwnp 200 000,0 0.0 Shuwuuwynpdwu wy) 200 000.0
PGd-h dhongny puwlwpwiwiht wwwhnynyejwi dpwahn wnpjnipubip
Pwquwptwlwpw puwlybh pupbph wdpuwgnid-
YGpwlwqunud (tnp hwppbp)
Shuwuuwynpdw wy|
92 |p.Updwyhp, Gpbwtywu 38U puwytih otiup wdpwgnid 150 000,0 0,0 -150 000,0
wnpynipubin
93 |p.Updwyhp, Pwnpwdjwt 7 ptwlth sbuph wipwgnud 100 000,0 0,0 Puwbuwdnndwl w -100 000,0
wnpynipubin
94 |p.Updwyhp, Punpuidjwt 9 ptwlbih sbuph wipwgnu 100 000,0 0,0 Puwbuwdnndwl w -100 000,0
wnpynipubin
95 |p.Eouhwdht, 2wintugh 17 puwih 2ktph wipwgntd 66 500,0 0,0 Puwbuwdnndwl w .66 500,0
wnpnipubip
96 |p.Updwyhp, bpluwlywl 40U puwlkih sbup wipwgnid 160 000,0 0,0 Puwbuwdnndwl w 1160 000,0
wnpnipubip
97 |q.Ujwubihlywuh pyny 9 Ypwnwiht sblptinh wipwgny 45 000,0 0,0 Puwbuwdnndwl w 45 000,0
wnpnipubip
98 g.Uyuwihé, Lwhnwu pwnwdwuh rhy 2 inwhwny 50 000,0 0.0 Shuwuuwynpdwu wy 150 000,0
pwgUwptiwlwpwy puwytih skuptiph nidtnwgnud wnpjnipubip
Puwlypnunp unpngmd (unp hwypipbip)
99 Updwyhp pwnwph 119 pwqdwplwlwnpw gkupbinh 100 000.0 0.0 Shuwuuwynpdwu wy 1100 000,0
nwhpubiph YEpwunpngnud wnpynipubin

10



Jwnwpawwwwn pwnwph 38 puqdwptwlwpwu otuptiph

Shuwtuwynpdw wy

100 100 000,0 0,0 -100 000,0
nwhpubiph YEpwunpngnud wnpynipbin
101 Ubtidwdnp pwnwph pwqdwptwywpwu obupbiph 80 000.0 0.0 Shuwuuwynpdwu wy .80 000,0
wwuhpubiph ytpwunpngnud wnpjniputin
Yfuunfnp hupwljuuqdtiph, Yppwlw, Jupquilpui U
Hhuwlynypuyhti opybilppubph twpiuqonid (unp hwpplip)
Shuwuuwynpdw wy i
102 |g.Upwpuh glfuwynp hwinwlwgsdh dawyned 7 000,0 0,0 ——— 7 000,0
103 |g.Pbppwowwnh gifuwynp hwwnwlwagsh dowynud 7 000,0 0,0 Shuwbuwnniw wy -7 000,0
wnpnipubin
104 Unpwlywl,dJwpqulwu U dowynipwiht opjtlywnubtinh 20 000.0 0.0 Shuwuuwynpdwu wy) 20 000.0
twhuwgdwuwuwhwywihtu thwunwenebph Yuqdnwd wnpyniputin
Cunwibktp® wy| wnpjnipubip 1205 500,0 0,0 -1 205 500,0
Undmitiwy ninpuph upfuunputiptiip (tnp huyg)
(Fyny 40 hwdwjupub Epbquwuwwnubph hnnb
105 |[¢dnd 40 hwduytipliinh pwg glintigduwwntinh hnntnh 9 000,0 0,0|<cwdwupwiht pnigh -9.000,0
oguwagnpddwu ufubdwubph dowynid
u hwdwjupubpnud u u
10 | nah hwduytplipnud hpwutiugdnn ninpuiuh 102 480,0 102 480,0|<wiwjupwyh pnigk 0,0
dpwgnkip
Cunwdbup' hwdwjipwiht pjnigh 111 480,0 102 480,0 -9 000,0
CLunwdbkup' pwnwpwohunip)niu 1316 980,0 379 158,7 -937 821,3
tLEUYUNNrSUUTLLEN
suvunur<uchunir@3nNku
<< Updwyhph dwpquibipupwt
Uwnqujht tpwuwynipjwt wynnbwuwwwnphubph
107 |adbnwiht wwhwwunwd, pupwghy wwhwwund b 51 436,6 39 300,0|<< whwnwlwu pynigb -12 136,6
owhwanpdnul /hwupwwbinwlwu L dwpquhu
<< wpwbuynpuh b juwyh swiwpwpnipyniu
U-5, 5plwu-Updwyhp-fanipphwih uwhdwu
dhowbtitnwlwu vywuwynigjwu wynnbwuwwwphh
108 [Updwdhp pwnwphg ntwh Uwpnwpwuwnh 700 000,0 0,0[<< whnwlwu pynigk -700 000,0
hniwhwdwihp mwunn 5.6yd tplwpniejwdp
Swuwwwphwhwwnywdh hhduwunpngnid
Pwdpwlwowwn hwdwjuph 8004 dwuwwwphp 48 000,0|<< whnwlu pnigh 48 000.0
wudwjnwuwwwnnid
Lunwdbup’ whp.pyniok (ubthwljwh) 751 436,6 87 300,0 -664 136,6
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Ubtuwljwi ywhwlnpyut swiwupwphwguitigh

0,0
puwpbudnud» Juipljuyht dpwghp
£-292 «Updwyhp-Unpguwwn-Upuhy-Gpwutuwhnius
109 [dwuwwwphh «Unpuwwwwn-Unguown-Uplhy-6Gnkgunun- 800 000,0 0,0|<wdwgfuwphwihu pwuly -800 000,0
Gpwufuwhnu» 18.9 Yd hwwndwdh hhduwunpngnid
Lunwdbup’ whp.pynioh (Juipljuyht) 800 000,0 0,0 -800 000,0
Cunwdbkup® wEwnwlwl pynigk 1551 436,6 87 300,0 -1 464 136,6
10 U/6 nbwh «Shgpwu Utd» nwqiwlwu Jupdwpwl, 60 000,0 0.0 Shuwuuwynpdwu wy) 60 000,0
Jwulywywpdwywu pnite wnpyniputin
11 U-9, U-1-fdwhu-Rwpwlbpwn-fenipphwih uwhdwu 170 000.0 0.0 Shuwuuwynpdwu wy) 170 000,0
Swuwwwphh hhduwunpngnid wnpjnipubip
Shuwuuwynpdwu wyg
112 |S-3-11, LnWywghtu -<-17 dwuwwwphh hhduwunpngnid 190 000,0 0,0 - -190 000,0
S-3-13,Lnp Upnwgbpu-Lwpwunywu-SEnwoku Shuwuuwynpdwu wy)
113 200 000,0 0,0 -200 000,0
Swuwwwphh hhduwunpngnid wnpjnipubip
14 S-3-51 (US-Uwpnwpwwww-Lnp Updwyhp-S-3-52) -6.644 250 000.0 0.0 Shuwuuwynpdwu wy) 250 000.0
Swuwwwphh hhduwunpngnid wnpyniputin
15 S-3-19 (Upuhy-Swudsnun) 3.44d dwuwwwnhh 200 000.0 0.0 Shuwuuwynpdwu wy) 200 000.0
hhduwunpngntd wnpjnipubip
16 U-3-Gphpnjtinnyg-tunpnup 5.24d tpljupnipjwdp 300 000,0 0.0 Shuwuuwynpdwu wy 300 000,0
Swuwwwphh hhduwunpngnid wnpyniputip
Cunwdbkup® wy| wnpjniputip 1 370 000,0 0,0 -1 370 000,0
117 |Ywnah hwduwyuptipnud hpuiwitiugdnn nnpuught 249 090,0 249 090,0|<wdwjupwiht pynigk 0,0
dpwgnbip
CLunwibkup® hwdwjupwh pjnigk 249 090,0 249 090,0 0,0
Lunwdbkup’ dwuwwwphwhunypyniu 3170 526,6 336 390,0 -2 834 136,6
hUGLNR QPruvusuuwururnhU bd
RINVES VTN
Rpuyht iptnpbunypqut wipwlwu Yndhpl
Lwdwjupwjht Gupwlywnnigywdpwiht dpwahp I-Pny 3-
Updwyhp pwnwph ogpwdwwnwlwpwpdwu b dwplwjhu dhongubip (wnwug
s onpwhtinwgdwu hwdwlwpgbph yipwunpngnud, Updwyhp- 2 138 000,0 2 138 000,0 << hwdwdhuwuuwynpdw) 00
Utidwdnp pwnwpubph Yenunwenh dwppdwt Yuywuh L Ybpdwuwywu qupgugdwu
wndwwYwjwuh Yunnignud, uwppbiph U puwy (KfW)
uwppwynpndubiph dbnp pbipnid
Lunwdbup’ wkp.pinol (Jupluypt) 2138 000,0 2138 000,0 0,0
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Cunwdbup' whnwlwi pynigh 2 138 000,0 2 138 000,0 0,0
19 Pwdpwlywowwn hwdwjuph fudbnt gpwdwnwlwpwpdwl 50 000,0 0.0 Shuwuuwynpdwu wy 150 0000
ubippht gwigh Ywnnignid wnpyniputin
Cunwdbkup® wy| wnpjnipubip 50 000,0 0,0 -50 000,0
120 |7 unah hwduwytipbinnud hpwluitivigdnn ninpuht 100 050,0 100 050,0|<wiwjupwihu pynigh 0,0
dpwgnbip
Cunwdbtup' hwdwjupwih pjnigh 100 050,0 100 050,0 0,0
Cunwdbup’ fudbnt gpwiwnwywpwpnud 2288 050,0 2238 050,0 -50 000,0
QURUU USUUULULNRY /qugh$hlwgnid/
bhuwu dwu
121 |fayny 4 hwdwjuputiph b 2 pwnwdwubiph ququdhlugnud 801 500,0 0,0 htwbiuwinpdut -801 500,0
wnpynipubin
Cunwdbkup® wy] wnpyniputip 801 500,0 0,0 -801 500,0
u hwdwjupubpnud u u
192 | winah hudwjupltipnud hpulwiugdnn inpugh 27 800,0 27 800,0| Cwdwjupuyht pnigh 0,0
dpwgnkin
Cunwibkup® hwdwjupwyh pjnigk 27 800,0 27 800,0 0,0
Cunwibkup' ququiwnwlwpwpned 829 300,0 27 800,0 -801 500,0
ELeMreEShul 0,0
Updwdhpp dwpgh fiGYunpwdwnwlywpwpdwu
hnwwihniyeinup pwpdpwgubne bwwwnwyny ubipnpnwdubp
(onwjht, dwintfuwjhtu gdbinph Uwuuwynp ubipnpnnubp'
123 |Ywnnigdwt/Ybpwlwnnigdwl, yepwunpngdw, 300 000,0 300 000,0[«Lwjwunwuh biElnpwlwu 0,0
Gupwlwjwuubph unpngdw, hht mpwuubnpdwnnpubpp guugtip» PRL
unptipny thnfuwphubnt, Unp pwdwunpnubiph guughu
dhwuwntu ninnywéd wotuwwnwupubin)
Uwuuwynp ubipnpnnubp’
PPL-h hwayb d gt U gnpdnn 220/110y4 09-
124 h hwaonnud guntiynn t?”unh nn 22071104 1200,0 1200,0«Pwpapwynin Ebwpwlui 0,0
nh Upw Yunwpynn wofuwnwtptbin quitigin» PP
Cunwdbup' Swutwynp ubkipnpnn 301 200,0 301 200,0 0,0
u hwdwjupubpnud u u
15 | wnah hudujtipbinnud hpulutwgdnn ninpuwgh 54 150,0 54 150,0|<wiiwjupwiht pnigh 0,0
dpwgnbip
Cunwdbtp® hwdwyupwyht pjnigh 54 150,0 54 150,0 0,0
CLunwdbkup' Lubipgwnplyw 355 350,0 355 350,0 0,0
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Cunwdbup' Gupwywnnigwépubip 6 643 226,6 2 957 590,0 -3 685 636,6
ursuuure bhrudbhsuuiurrs
PLUUANRSG3UL b4 SUruoLLLrh
nuesMuLNha3nhLu
<L Updwyhph dwpgh Updwyhp hwdwjupnid Shuwtuwgnniuy wj
126 |nbnulwjywsd dwpquiht wwhbunwht Yunwywpdwt 320000 0.0 wnpjnipuitin 320000
ytiinnh hhduwunpngnd
<< Updwyhph dwpgh pwnwpwghwljwl
127 Jwywaunwwuntejwl wwownwwuwywu Junnygutiph 35 000,0 0,0 Shtwbuuinpdut -35 000,0
wnpjniputin
hhduwunpngnd
Cunwdbup' wy wnpjnipubp 67 000,0 0,0 -67 000,0
Cunwdkup' Uh 67 000,0 0,0 -67 000,0
LLMULLL' 2016p. 39 379 885,1 9 843 250,9 -29536 634.2
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